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QUESTION 1

See the following PL/SQL block of statements: 

Which statement is correct regarding the above PL/SQL block? 

A. It reserves 30% of the space in the SYSTEM tablespace for SMB 

B. It reserves 30% of the space in the SYSAUX tablespace for SQL Management Base (SMB) 

C. It generates a weekly warning in the alert log file when SMB occupies more than 30% of the SYSAUX tablespace 

D. It automatically purges the SQL management objects when SMB occupies more than 30% of the SYSAUX
tablespace 

Correct Answer: C 

 

QUESTION 2

See the Exhibit: 

You open an RMAN session for the database instance. To repair the failure, you executed the following as the first
command in the RMAN session: 

RMAN> REPAIR FAILURE; 

Which statement describes the consequence of the command? 

A. The command performs the recovery and closes the failures 

B. The command only displays the advice and the RMAN script required for repair 

C. The command produces an error because the ADVISE FAILURE command has not been executed before the
REPAIR FAILURE command 

D. The command executes the RMAN script to repair the failure and removes the entry from the Automatic Diagnostic
Repository(ADR) 
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Correct Answer: C 

 

QUESTION 3

See the exhibit to examine the parameters set for your database instance: 

You execute the following command to perform I/O calibration after the declaration of bind variables in the session that
are used in the command: 

Which statement describes the consequence? 

A. The command produces an error 

B. The calibration process runs successfully and populates all the bind variables 

C. The calibration process runs successfully but the latency time is not computed 

D. The calibration process runs successfully but only the latency time is computed 

Correct Answer: A 

 

QUESTION 4

You executed the following SQL statement to shrink the EMPLOYEES table segment stored in the EXAMPLE
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tablespace: 

ALTER TABLE employees SHRINK SPACE CASCADE; 

Which statement is correct in this scenario? 

A. The EMPLOYEES table will be changed to read-only mode during the shrink operation 

B. The indexes created on the EMPLOYEES table will need to be rebuilt after the shrink operation is over 

C. The shrink behavior will be cascaded to all dependent segments of the table that support a shrink operation 

D. Data manipulation language (DML) operations will not be possible on the EMPLOYYES table during the
COMPACTION phase of the shrink operation 

Correct Answer: C 

 

 

QUESTION 5

Which of the following information will begathered by the SQL Test Case Builder for the problems pertaining to SQL-
related problems? (Choose all that apply) 

A. ADR diagnostics files 

B. All the optimizer statistics 

C. Initialization parameter settings 

D. PL/SQL functions, procedures and packages 

E. The table and index definitions and actual data 

Correct Answer: BCE 

1Z0-055 PDF Dumps 1Z0-055 VCE Dumps 1Z0-055 Exam Questions

1Z0-055 PDF Dumps | 1Z0-055 VCE Dumps | 1Z0-055 Exam Questions                                4 / 5

https://www.passapply.com/1Z0-055.html
https://www.passapply.com/1Z0-055.html
https://www.passapply.com/1Z0-055.html
https://www.passapply.com/1Z0-055.html
https://www.passapply.com/1Z0-055.html
https://www.passapply.com/1Z0-055.html


https://www.passapply.com/1Z0-055.html
2021 Latest passapply 1Z0-055 PDF and VCE dumps Download

To Read the Whole Q&As, please purchase the Complete Version from Our website.

Try our product !

100% Guaranteed Success
100% Money Back Guarantee
365 Days Free Update
Instant Download After Purchase
24x7 Customer Support
Average 99.9% Success Rate
More than 800,000 Satisfied Customers Worldwide
Multi-Platform capabilities - Windows, Mac, Android, iPhone, iPod, iPad, Kindle

We provide exam PDF and VCE of Cisco, Microsoft, IBM, CompTIA, Oracle and other IT Certifications.
You can view Vendor list of All Certification Exams offered:

https://www.passapply.com/allproducts

Need Help
Please provide as much detail as possible so we can best assist you.
To update a previously submitted ticket:

Any charges made through this site will appear as Global Simulators Limited.
All trademarks are the property of their respective owners.

Copyright © passapply, All Rights Reserved.

Powered by TCPDF (www.tcpdf.org)

1Z0-055 PDF Dumps | 1Z0-055 VCE Dumps | 1Z0-055 Exam Questions                                5 / 5

https://secure.livechatinc.com/licence/8041871/v2/open_chat.cgi
http://www.tcpdf.org
https://www.passapply.com/1Z0-055.html
https://www.passapply.com/1Z0-055.html
https://www.passapply.com/1Z0-055.html

